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QUESTION 1

Vision Corporation is a semiconductor discrete manufacturing organization; it has its own manufacturing and distribution
centers located globally.

It has this operating units:

US - USA operating unit CAN - Canadian operating unit UK - UK operating unit MX - Mexican operating unit IND- India
operating unit SPA -Spain operating unit FRA - France operating unit NL - Netherlands operating Unit GER -Germany
operating unit

These are the inventory organizations that exist in each operating unit: Inventory Org - Operating unit

VC (Master Org)-US US1 (Child Org)- US US2 (Child Org)-us CA1 (Child Org)-CAN MXI (Child Org)-MX INI (Child
Org)-IND SP1 (Child Org)-SPA FR1 (Child Org)-FRA NLI (Child Org)- NL GEI (Child Org)-GER Which two statements
are true? (Choose two.)

A. Master Organization VC cannot be shared across operating units.

B. Items cannot be assigned to inventory organizations across operating units.

C. All inventory organizations do not need to be in the same operating unit to assign items.

D. You can define an item in INI inventory organization and assign it to GEIl inventory organization

E. Items defined in VC organization can be assigned to US1, US2, NLI, and MXI inventory organizations.

Correct Answer: CE

QUESTION 2

What two conditions prevent you from reserving the Inventory? (Choose two.)
A. The inventory module is installed as Shared.

B. The items have a nonreservable material status.

C. The Inventory is in a Standard Cost inventory organization.

D. The Inventory is in an Average Cost inventory organization.

E. The reservation will cause the on-hand quantity to be negative.

Correct Answer: BE

QUESTION 3

In the Descriptive Flexfield (DFF. implementation, the purpose of the "Synchronize with Reference Field" check box is to
synchronize

A. The DFF Values with the Reference field
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B. The DFF Contexts with the Reference field
C. The DFF Attributes with the Reference field
D. The DFF Segments with the Reference field
E. The DFF Value Sets with the Reference field

Correct Answer: B

QUESTION 4

You are defining the staging subinventory for your sales order pick release rule. Which flag should be enabled (checked.
for the rule to work properly?

A. Nettable

B. Depreciable

C. Locator Alias

D. D.Asset Subinventory

E. Allow Reservations

F. PAR (Periodic Automatic Replenishment) Level Planning

Correct Answer: E

QUESTION 5

The Copy Lot Attributes checkbox is enabled at the organization item level. Which two statements are true? (Choose
two.)

A. This feature is specific to child lots.

B. This feature is specific to parent lots.

C. Lot attributes are copied between child lots.

D. Parent lot inherits the lot attributes of the child.

E. Child lots inherit the attributes of the parent lot.

F. Lot attributes are copied from parent to parent lot.

G. The feature is applicable to both child and parent lots.
H. Lot attributes are copied from the child to the parent lot.

Correct Answer: AE
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